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SEAT No. :

Q1) A) Fill in the blanks. (any five) [5]
i) The quality of a report is determined mainly by the accuracy of the

_______.

a) Image

b) Page

c) Data

ii) _______ platform is primarily used for professional networking
and career development.

a) LinkedIn

b) Microsoft Excel

c) Microsoft Word

iii) ______ is easily the leading platform for video sharing.

a) YouTube

b) Google Classroom

c) Google Sheet

iv) ______ letter is written by the creditor to collect the dues from his
debtor.

a) Sales

b) Purchase

c) Collection

v) _______ allows the user to send a file with E-mail.

a) Attach file

b) Separate file

c) Disconnect file

P.T.O.
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vi) Deleted E-mails are stored in _________.

a) Inbox

b) Trash

c) Sent

B) Match the following: [5]
Group ‘A’ Group ‘B’

i) Press Report a) Inbox

ii) Facebook b) Inferior Goods

iii) Complaint Letter c) Foreign Trade

iv) Import Export d) Mark Zuckerberg

v) E-mail e) News Media

Q2) Write short notes. (any two) [10]
a) Formal Report

b) WhatsApp

c) Complaint Letter

d) Blog

Q3) a) What is ‘Report’? Explain in detail essential elements of report writing.[8]
b) What do you mean by ‘Social Media Network’? Explain in detail about

Twitter and YouTube. [7]

Q4) a) Write a reply to enquiry letter on behalf of ‘Sai General Stores’, Bajirao
Road, Mumbai to the proprietor ‘Star General Stores’ Nashik Road,
Nashik about the price and time of delivery of office stationery. [8]

b) What do you mean by ‘Mail’? Explain various essential elements of
mail. [7]


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Q1) a) Fill in the blanks. (any five) [5]
i) Pre-acquisition profit in subsidiary company is considered as

_______.
a) Revenue profit
b) Capital profit
c) Goodwill

ii) Hodling Co.’s share in capital profits of subsidiary company is
adjusted in __________.
a) Cost of control
b) Shown on Assets side of Balance sheet
c) Revenue profit

iii) Liquidation is a _________ by which the corporate life of a
comapny is brought to an end.
a) Legal procedure
b) Social procedure
c) Financial procedure

iv) Winding up by the creditors or members without any intervention
of the tribunal is termed as _______.
a) Compulsory winding up
b) Voluntary winding up
c) Winding up by the order of the court

v) The accounting for absorption involves closing the books of
_______.
a) Purchasing company
b) Vendor company
c) Transferee company

P.T.O.
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vi) Against the purchase of business, the amount paid to a company is
called as __________.

a) Purchase Consideration

b) Goodwill

c) Capital Reserve

vii) _______ is a combination of accounting and investigative techniques
used to discover financial crimes.

a) Financial Accounting

b) Cost Accounting

c) Forensic Accounting

b) True or false (any five) [5]
i) Minority interest shown in the consolidated balance sheet is the

equity held by the outsiders in the subsidiary company.

ii) Profit on revaluation of Fixed assets is a capital profit and
depreciation on such amount is a revenue loss.

iii) Under the Absorption of Companies, General Reserve is transferred
to the equity shareholder’s account.

iv) Purchase Consideration is paid in the form of cash, Equity Shares
& Preference Shares.

v) Income Tax is treated as a preferential creditor.

vi) Liquidation of company means winding up of a company.

vii) Post incorporation profit is known as Revenue Profit.

c) Match the pair. [5]
i) Sundry Creditors a) Loss on revaluation of fixed assets.

ii) Holding Company b) One liquidation and no formation of
new company

iii) Absorption c) Two or more companies come
together and form a new company

iv) Amalgamation d) Unsecured Creditors

v) Capital Loss e) Acquires more than 50% shares from
another company

d) Write short notes. (any three) [15]
i) Cost of control / Goodwill

ii) Voluntary winding up of a company

iii) Purchase Consideration

iv) Objectives of Forensic accounting

v) Nature of Forensic accounting
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Q2) The Balnace Sheet of Viraj Ltd., Pune as on 31st March 2021 is as follows :
[20]

Balance Sheet as on 31st March, 2021
Liabilities Rs. Assets Rs.

Share Capital Land & Building 2,00,000
1,000 6% Preference Shares 1,00,000 Plant & Machinery 2,20,000
of Rs. 100 each
3,500 Equity Shares of 3,50,000 Stock 1,00,000
Rs. 100 each fully Paid
6% Debentures 1,00,000 Debtors 1,00,000
(Floating charge on all assets)
Bank Loan (Secured on Land & 1,00,000 Cash at Bank 30,000
Building)
Sundry Creditors 90,000 Preliminary Expenses 40,000
Income Tax 10,000 Profit and Loss A/c 60,000

7,50,000 7,50,000
The company went into liquidation on 31st March 2021. The preference
dividend was in arrears for three years. The arrears are payable on liquidation.
The assets were realized as follows :
Land & Building Rs. 2,40,000, Plant & Machinery Rs. 1,80,000, Stock
Rs. 70,000 and Debtors Rs. 60,000.
The Expenses of liquidation amounted to Rs. 8,000. The liquidator is entitled
to a remuneration of @ 2% on all assets realized and 3% on the amount
distributed to unsecured Creditors (including preferential creditors).
All payments were made on 1st October 2021.
Prepare Liquidator’s Final Statement of Accounts

Q3) The Balance sheet of H Ltd., and S Ltd. as of 31st March 2022 is as follows.[20]
Balance Sheet as on 31st March, 2022

Liabilities H Ltd. S Ltd. Assets H Ltd. S Ltd.
(Rs.) (Rs.) (Rs.) (Rs.)

Share Capital Goodwill 60,000 20,000
Eq. shares of 10,00,000 4,00,000 Machinery 7,32,000 2,72,000
Rs. 10 each Stock 1,80,000 90,000
General Reserve 1,50,000 - Debtors 2,95,000 1,23,000
Profit and Loss A/c 1,42,000 60,000 Cash 35,000 27,000
Creditors 1,82,000 87,000 Investment 1,92,000 -
Bills Payable 20,000 - 24,000 Shares of

S Ltd. at cost
Bills Receivable - 15,000

14,94,000 5,47,000 14,94,000 5,47,000
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Other Information :

a) H Ltd., acquired the shares in S Ltd. on 1st October 2021.

b) The Profit and Loss A/c of S Ltd. showed a debit balance of Rs. 20,000
on 1st April, 2021.

c) Included in the stock of S Ltd., are goods of Rs. 20,000 which were
supplied by H Ltd. at cost plus 25%.

d) The Bills payable in H Ltd., represented Rs. 15,000 issued in favor of S
Ltd.

Prepare a Consolidated Balance Sheet as on 31st March 2022.

Q4) The balance sheet of Super Ltd, Pune as on 31st March, 2022 was as follows:
[20]

Balance Sheet as on 31st March, 2022

Liabilities Rs. Assets Rs.

Share Capital 2,000 shares 2,00,000 Land & Building 1,40,000

of Rs. 100 each Plant & Machinery 1,10,000

General Reserve 64,000 Stock 98,000

Profit & Loss 60,000 Debtors 42,000

Bills Payable 42,400 Cash at Bank 14,400

Creditors 70,000 Advertisign suspense A/c 32,000

4,36,400 4,36,400

Super Ltd. was absorbed by Fast Ltd. Baramati on the following terms :

a) Super Ltd. agreed to write off Advertising Suspense A/c against its own
reserves.

b) Fast Ltd. revalued the assets of Super Ltd. as under.

Land & Building Rs. 1,50,000, Plant & Machinery Rs. 1,04,000, Stock
Rs. 1,20,000 and Debtors at Book Value.

c) Fast Ltd. took over all the assets (including Cash at Bank) and Liabilities
of Super Ltd. and agreed to discharge the purchase consideration in
2,600 Shares of Rs. 100 each at Rs. 110 per Share and balance in cash.

d) Super Ltd. paid its Liquidation expenses Rs. 4,000.

Prepare Realization A/c, fast Ltd., A/c, Shareholders A/c, and Bank A/c in the
books of Super Ltd., and Opening Entries in the books of Fast Ltd.


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SEAT No. :

Q1) a) Fill in the blanks (Any 5): [5]
i) Speculative demand for money depends upon _______.

(income, investment, central bank policy, rate of interest)

ii) The quantity Theory of Money presented by _______.

(Pigue, J.M. Keynes, Fisher, Dr. Marshal)

iii) The duration of the Phases of the Trade Cycle is ______.

(same, different, low, more)

iv) The Scope of Public Finance does not include the following _____.

(tax, public expenditure, monetary policy, public debt.)

v) The Standard of Living of salaried people is _______ affected due
to inflation.

(favorably, unfavorably, differently, zero)

vi) The two concepts _______ are important in the money measure of
RBI.

(M
1
 and M

3
, M

2
 and M

3
, M

1
 and M

2
, M

1
 and M

4
)

b) Match the following pairs. [5]
Group ‘A’ Group ‘B’

i) Demand of Money: Classical a) Entertainment Tax

Approach

ii) Tax b) Cambridge equation

iii) Indirect Tax c) Fiscal Measures

iv) Cash Balance Approach d) Recession

v) Phase of Trade cycle e) J.B. Say

P.T.O.



2[5801]-403

Q2) Explain the credit creation of Commerical Banks. [15]

Q3) What is Inflation? Explain the consequences of Inflation. [15]

Q4) What is Trade Cycle? State the Stages of Trade Cycle. [15]

Q5) What is Public Debt? State the importance of Public Debt. [15]

Q6) Write short notes on (Any Three): [15]

a) Quantitative tools of credit control.

b) Money measure of R.B.I.

c) Direct and Indirect Tax.

d) Surplus Budget.

e) Stagflation.


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(‘amR>r ê$nm§Va)
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4) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

P2934

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) gÅ>o~mOr hoVygmR>r n¡emMr _mJUr ......... da Adb§~yZ AgVo.
(CËnÞ, Jw§VdUyH$, _Ü`dVu ~±H$ YmoaU, ì`mOXa)

ii) n¡emMm MbZ g§»`m_mZ {gÕm§V ........... `m§Zr _m§S>bm.
({nJw, Oo.E_.Ho$Ýg, {\$ea, S>m°. _me©b)

iii) ì`mnmaMH«$mÀ`m AdñWm§Mm H$mbmdYr ........... AgVmo.
(g_mZ, {^Þ-{^Þ, H$_r, OmñV)

iv) gmd©O{ZH$ Am`ì``mÀ`m ì`márV nwT>rbn¡H$s ........... Mm g_mdoe hmoV Zmhr.
(H$a, gmd©O{ZH$ IM©, MbZ{df`H$ YmoaU, gmd©O{ZH$ H$O©)

v) nJmaXma ZmoH$adJm©À`m amhUr_mZmda MbZ{dñVmamMm ............ n[aUm_ hmoVmo.
(Mm§Jbm, dmB©Q>, doJù`m nÕVrZo, ewÝ`)

vi) [aPìh© ~±Ho$À`m n¡emÀ`m _mnZmV ............. `m XmoZ g§H$ënZm _hËdmÀ`m AmhoV.
(M

1
 Am{U M

3
, M

2
 Am{U M

3
, M

1
 Am{U M

2
, M

1
 Am{U M

4
)

~) `mo½` OmoS>çm bmdm. [5]

JQ> "A' JQ> "~'
i) n¡emÀ`m _mJUrMm gZmVZ Ñ{ï>H$moZ A) H$a_UyH$ H$a
ii) H$a ~) H|$~«rO g{_H$aUo
iii) AàË`j H$a H$) amOH$mofr` Cnm`
iv) amoI {e„H$ Ñ{ï>H$moZ S>) AngaU
v) ì`mnmaMH«$mMr AdñWm B) Oo.~r.go.
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à.à.à.à.à.2) ì`mnmar ~±H$m§Mr nV{Z{_©Vr ñnï> H$am. [15]

à.à.à.à.à.3) MbZ{dñVma åhUOo H$m`? MbZ{dñVmamMo n[aUm_ ñnï> H$am. [15]

à.à.à.à.à.4) ì`mnmaMH«o$ åhUOo H$m`? ì`mnmaMH«$mÀ`m AdñWm gm§Jm. [15]

à.à.à.à.à.5) gmd©O{ZH$ H$O© åhUOo H$m`? gmd©O{ZH$ H$Om©Mo _hËd gm§Jm. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) nV{Z §̀ÌUmMr g§»`mË_H$ gmYZo.

~) [aPìh© ~±Ho$Mr n¡emÀ`m nwadR>çmMr _mnZo.

H$) àË`j Am{U AàË`j H$a.

S>) {ebH$s qH$dm A{YŠ`mMm AW©g§H$ën.

B) _§Xr ẁº$ MbZdmT>.


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P2935 [Total No. of Pages : 4

SEAT No. :

Q1) a) Fill in the blank with the most appropriate alternative. (any Five) [5]

i) ________ is a type of motivation by which an individual gets
motivated by internal desires.

(Monetary, Perquisites, Intrinsic, Extrinsic)

ii) ________ needs are concerned with the basic biological functions
of the human body.

(Social, Safety & Security, Esteem, Physiological)

iii) __________ skills refer to the ability to work well with others.

(Conceptual, Technical, Human Relation, Analytical)

iv) Concept of Trusteeship was introduced by ___________.

(Dr. Babasaheb Ambedkar, Mahatma Gandhi, Pandit Jawaharlal
Nehru, Indira Gandhi)

v) ________ lead to difficulties in establishing sound coordination.

(Conflicts, Effective Communication system, Clear goals, Mutual
Respect)

vi) ________ is a last step in the process of control.

(Measuring performance, Analysing the deviation, Establishment of
standards, Taking corrective action)

vii) Section 135 of Indian Companies Act 2013 (Amendment made in
2014). relates to __________.

(Corporate Governance, Disaster Management, Corporate Social
Responsibility, Corporate Citizenship)

P.T.O.
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b) Match the following. [5]

Column A Column B

i) Motivation A) Mitigation

ii) Motivation-Hygiene Theory B) Action

iii) Democratic Style C) Participative

iv) Essence of Control D) Herzberg

v) Disaster Management E) Stimuli

Q2) Define Motivation and explain in detail the types of motivation. [15]

Q3) Define Leadership and explain the nature and characteristics of Leadership.[15]

Q4) Define Coordination. Explain the need and importance of Coordination. [15]

Q5) Define Corporate Social Responsibility and explain the responsibility of
business toward Consumers and employees. [15]

Q6) Write a short notes (any three): [15]

a) Herzberg’s Two Factor Theory

b) Techniques of Control

c) Corporate Citizenship

d) Mahatma Gandhi’s thoughts about Leadership

e) Management of Change


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S.Y. B.Com.
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$_m§H$ 1 Am{U àíZ H«$_m§H$ 6 A{Zdm¶© AmhoV.
2) àíZ 2 Vo à. 5 _Yrb H$moUË`mhr VrZ àíZm§Mr CÎmao Úm.
3) COdrH$S>o {Xbobr g§»`m nyU© JwU Xe©{dVmV.

P2935

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ............ hr EH$ àH$maMr A{^àoaUm Amho Á`m_Ü ò ì`º$s A§VJ©V BÀN>m§Mr ào[aV hmoVo.

(Am{W©H$, gw{dYm, Am§V[aH$, ~mø)

ii) ........... JaOm _mZdr earamÀ`m _yb ŷV O¡{dH$ H$m`mªer g§~§{YV AmhoV.

(gm_m{OH$, gwa{jVVm Am{U gwajm, gÝ_mZ, emar[aH$)

iii) ........... H$m¡eë ò BVam§gmo~V ghH$m`m©Zo H$m_ H$aÊ`mMr j_Vm Xe©dVmV.

(g§H$ënZmË_H$, Vm§{ÌH$, _mZdr g§~§Y, {dûcofUmË_H$)

iv) {dœñVnXmMr g§H$ënZm ............. `m§Zr _m§S>br.

(S>m°. ~m~mgmho~ Am§~oS>H$a, _hmË_m Jm§Yr, n§{S>V Odmhabmb Zohê$, B§{Xam Jm§Yr)

v) ........... Mm§Jbm g_Ýd` ñWm{nV H$aÊ`mV AS>MUr {Z_m©U H$aVmV.

(g§Kf©, à^mdr g§àofU àUmbr, ñnï> C{Ôï>o, nañna AmXa)

vi) ............ hr {Z §̀ÌU à{H«$ òVrb eodQ>Mr nm`ar Amho.

(H$m_mMo _moO_mn H$aUo, {dMbZmMo {dûcofU H$aUo, _mZH$m§Mr ñWmnZm H$aUo, gwYmamË_H$
H$madmB© H$aUo)

vii) ^maVr` H§$nZr H$m`Xm 2013 Vo H$b_ 135 (2014 _Ü`o Ho$bobr XþéñVr) ........... er
g§~§{YV Amho.

(H$m°nm}aoQ> JìhZ©Ýg, AmnÎmr ì`dñWmnZ, H$m°nm}aoQ> gm_m{OH$ O~m~Xmar, H$m°nm}aoQ> ZmJ[aH$Ëd)
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~) `mo½` OmoS>çm Owidm. [5]

aH$mZm "A' aH$mZm "~'

i) A{^àoaUm A) e_Z

ii) A{^àoaUm, ñdÀN>Vm {gÕm§V ~) H¥$Vr

iii) bmoH$emhr e¡br H$) gh^m{JËd

iv) {Z §̀ÌUmMo gma S>) hP©~J©

v) AmnÎmr ì`dñWmnZ B) CÎmoOZ

à.à.à.à.à.2) A{^àoaUoMr ì`m»`m Úm Am{U A{^àoaUoMo àH$ma ñnï> H$am. [15]

à.à.à.à.à.3) ZoV¥ËdmMr ì`m»`m Úm d ZoV¥ËdmMo ñdê$n Am{U d¡{eîQ>ço ñnï> H$am. [15]

à.à.à.à.à.4) g_Ýd`mMr ì`m»`m Úm d g_Ýd`mMr JaO Am{U _hÎd ñnï> H$am. [15]

à.à.à.à.à.5) H$m°nm}aoQ> gm_m{OH$ O~m~Xmar ñnï> H$am d ì`dgm`mMr J«mhH$m§~m~V Am{U H$_©MmaÊ`m~m~VMr gm_m{OH$
O~m~Xmar ñnï> H$am. [15]

à.à.à.à.à.6) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) hP©~J©Mm {ÛKQ>H$ {gÕm§V

~) {Z §̀ÌUmMr V§Ìo

H$) H$m°nm}aoQ> ZmJ[aH$Ëd

S>) ZoV¥Ëdm~Ôb _hmË_m Jm§YtMo {dMma

B) ~XbmMo ì`dñWmnZ


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P2936 [Total No. of Pages : 4

SEAT No. :

Q1) a) Fill in the blanks. (any 5):  [5]

i) There should be minimum one director for________ company.

(Public, one person, sick)

ii) Director appointed in place of director absent for more than three
months is called________.

(Additional, Alternative, Nominee)

iii) A________ is a person representative of a shareholder at a meeting
of company.

(Proxy, Chairmann, Secretary)

iv) A________is necessary for the proper conduct of business at
meeting.

(Chairman, Resolution, Notice)

v) ________is the last stage of the life of the company.

(Winding up, Acquisition, Amalgamation)

vi) The person appointed by company to perform the functions of a
company secretary is called_______

(Director, Manager, Secretary)

P.T.O.
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b) Match the following : [5]

Group - A Group - B

i) E-governance A) Whole time empolyee of company

ii) Copulsory winding up B) Alteration

iii) Amendments C) Shareholders

iv) Owners of the company D) Company Law Tribunal

v) Whole time director E) Quick statutory compliance

Q2) Define director. Explain the various powers and duties of directors. [15]

Q3) Define company secretery. Explain the role & duties of company secretery.[15]

Q4) What do you mean by meeting? Explain in detail about methods of voting in
meeting. [15]

Q5) What do you mean by winding up of a company? Explain methods of winding
up. [15]

Q6) Write short notes (Any three) [15]

a) Priority order for payment of liabilities.

b) Liabilities of director.

c) Minutes of a company.

d) E-governance.

e) Chairman a meeting.


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245 : ELEMENTS OF COMPANY LAW-II
(2019 Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo AmdíH$ Amho.
2) àíZ H«$. 2, 3, 4 Am{U 5 àíZm§n¡H$s H$moUVohr VrZ n«íZ gmoS>dm.

P2936

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) ............ H§$nZr‘Ü¶o {H$‘mZ EH$ g§MmbH$ AgVmo.

(gmd©O{ZH$, EH$ ì¶{º$, AmOmar)

ii) VrZ ‘{hÝ¶m§nojm OmñV H$mbmdYrgmR>r AZwnpñWV Agboë¶m g§MmbH$mÀ¶m OmJr Á¶m
g§MmbH$m§Mr {Z¶wº$s Ho$br OmVo Ë¶mbm ............. g§MmbH$ Ago åhUVmV.

(A{V[aº$, n¶m©¶r, Zm‘{ZX}{eV)

iii) H§$nZrÀ¶m g^o‘Ü¶o ^mJYmaH$À¶m dVrZo CnpñWV amhÊmmè¶m ì¶º$sbm ............ Ago
åhUVmV.

(à{V{ZYr, AÜ¶j, g{Md)

iv) g^m H$m¶Xoera[aË¶m nma nmS>Ê¶mgmR>r g ôbm ................. AgUo Amdí¶H$ Amho.

(AÜ¶j, R>amd, gyMZm)

v) H§$nZrÀ¶m Am¶wî¶mVrb gdm©V eodQ>Mm Q>ßnm ............ hmo¶.

(g‘mnZ, g§nmXZ, EH$ÌrH$aU)

vi) H§$nZrZo {MQ>UrgmMr H$m¶} nma nmS>Ê¶mgmR>r {Z¶wº$ Ho$boë¶m ì¶º$sbm ........... Ago
åhUVmV.

(g§MmbH$, ì¶dñWmnH$, g{Md)
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~) ¶mo½¶ OmoS>çm Owidm : [5]

JQ> - A JQ> - ~

i) B©-JìhZ©Ýg² A) H§$nZrÀ¶m godoV nwU©doi {Z¶wº$ ì¶º$s

ii) gº$sZo g‘mnZ ~) ~Xb

iii) Xþê$ñVr H$) ^mJYmaH$

iv) H§$nZrMo ‘mbH$ S>) H§$nZr H$m¶Xm Ý¶m¶m{YH$aU

v) nwU© doi g§MmbH$ B) VmËH$mi d¡Ym{ZH$ ~m~tMr nwV©Vm

à.à.à.à.à.2) g§MmbH$mMr ì¶m»¶m Úm. g§MmbH$mMo A{YH$ma Am{U H$V©ì¶o g{dñVa ñnï> H$am. [15]

à.à.à.à.à.3) H§$nZr {MQ>UrgmMr ì¶m»¶m Úm. H§$nZr {MQ>UrgmMr ŷ{‘H$m Am{U H$V©ì¶o ñnï> H$am. [15]

à.à.à.à.à.4) g^m åhUOo H$m¶? g ôVrb ‘VXmZmÀ¶m {d{dY nÕVr g{dñVa ñnï> H$am. [15]

à.à.à.à.à.5) H§$nZrMo g‘mnZ åhUOo H$m¶? g‘mnZmÀ¶m {d{dY nÕVr ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) g‘mnZmÀ¶m doir H§$nZrZo XoUr naV H$aÊ¶mÀ¶m àmYmÝ¶H«$‘

~) g§MmbH$m§À¶m O~m~Xmè¶m

H$) H§$nZrMo B{Vd¥V

S>) B©-JìhZ©Ýg²

B) g ôMm AÜ¶j


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Q1) A) Fill in the blank with the most appropriate alternative (any Five). [5]

a) Indian Partnership Act was passed in the year _______.(1932, 1930,
1934).

b) The_______governs the levy of income tax in India.  (Income tax
act 1961, Central Sales Tax act 1956, Bombay Sales Tax Act 1953).

c) Limited Liability Partnership Act, India was introduced in _______.
(2004, 2006, 2008).

d) ______is not a limitation of Joint Stock Company. (Perpetual
succession, Lack of secrecy, Limited Liability).

e) Infosys Foundation, Reliance Foundation, Tata Foundation are
governed under section ________of companies Act 2013 (8, 10, 26).

f) Business units having an investment up to Rs. 1 Crore and turnover
up to Rs. 5 crores are considered as a________unit. (Micro, Small,
Medium).

g) An agreement enforceable by law is known as a_______agreement.
(Valid, Void, Illegal).

B) Match the following. [5]

Column A Column B

a) Merger & Acquisition i) Rethinking of business process

b) Franchising ii) Contract between private entity
and government enterprise

c) Outsourcing iii) BPO

d) Public Private Partnership. iv) License fee

e) Business Engineering v) Elimination of Competition

P.T.O.
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Q2) Write a short note (any two). [10]

a) Filing Returns.

b) Quality Control.

c) Role of Business towards Society.

d) Advantages of Franchising.

Q3) a) Explain the steps information of a joint stock company. [8]

b) State the advantages of boost productivity. [7]

Q4) a) Explain the steps in developing strategies. [8]

b) Define merger. Explain the types of mergers. [7]


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>o {Xbobr g§»¶m nyU© JwU Xe©{dVmV.

P2937

à.à.à.à.à.1) A. [aH$må¶m OmJm ^am (H$moUË¶mhr 5) [5]

i) ^maVr¶ ^mJrXmar H$m¶Xm .......... ‘Ü¶o ‘§Oya Pmbm. (1932, 1930, 1934)
ii) ^maVmVrb Am¶H$a AmH$maUrMo {Z¶‘Z ............ H$m¶Úm A§VJ©V Ho$bo OmVo. (Am¶H$a

H$m¶Xm 1961, H|$Ðr¶ {dH«$sH$a H$m¶Xm 1956, ~m°å~o {dH«$sH$a H$m¶Xm 1953)
iii) ^maVm‘Ü¶o ‘¶m©{XV Xm{¶Ëd ^mJrXmar H$m¶Xm ............... gmbr g§‘V H$aÊ¶mV Ambm.

(2004, 2006, 2008).
iv) ........ hr g§¶wº$ ^m§S>dbr g§ñWoMr ‘¶m©Xm Zmhr. (emœV CÎmam{YH$ma, JwáVoMm A^md,

‘¶m©{XV Xm{¶Ëd)
v) BÝ’$mo{gg ’$mD§$S>oeZ, [abm¶Ýg ’$mD§$S>oeZ, Q>mQ>m ’$mD§$S>oeZ ho H§$nZr H$m¶Xm 2013 À¶m

H$b‘ .............. A§VJ©V {Z¶§{ÌV hmoVmV. (8, 10, 26)
vi) 1 H$moQ>r ê$n¶m§n¶ªVMr Jw§VdUyH$ Am{U 5 H$moQ>r ê$n¶m§n¶ªVMr CbmT>mb Agboë¶m

ì¶dgm¶mg .............. åhUVmV. (gyú‘CÚmoJ, bKwCÚmoJ, ‘Ü¶‘ CÚmoJ)
vii) H$m¶ÚmZo bmJy hmoUmè¶m H$amamg .......... H$ama åhUVmV. (d¡Y, {ZaW©H$, ~oH$m¶Xoera)

~. ¶mo½¶ OmoS²>¶m Owidm [5]

aH$mZm A aH$mZm ~

i) {dbrZrH$aU Am{U g§nmXZ A) ì¶dgm¶ à{H«$¶oMm nwZ{d©Mma

ii) ’«|$Mm¶{P§J ~) ImOJr g§ñWm Am{U gaH$mar CnH«$‘
¶m§À¶mVrb H$ama

iii) AmCQ>gmo{gªJ H$) {~. {n. Amo.

iv) gmd©O{ZH$ ImOJr ^mJrXmar S>) nadmZm ewëH$

v) ì¶dgm¶ A{^¶m§{ÌH$s B) ñnYm© g§nwï>mV AmUUo
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à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr 2) [10]

A) [aQ>Z©/{ddaU XmIb H$aUo

~) JwUdÎmm {Z¶§ÌU

H$) g‘mOmàVr ì¶mdgm¶mMr ŷ{‘H$m

S>) ’«|$Mm¶{P§JMo ’$m¶Xo

à.à.à.à.à.3) A) g§¶wº$ ^m§S>dbr g§ñWm ñWmnZoVrb nm¶è¶m ñnï> H$am. [8]

~) CËnmXH$Vm dmT>rMo ’$m¶Xo ñnï>. [7]

à.à.à.à.à.4) A) ì¶wìhaMZm {dH${gV H$aÊ¶mÀ¶m nm¶è¶m ñnï> H$am. [8]

~) {dbrZrH$aU åhUOo H$m¶ Vo gm§JyZ {dbr{ZH$aUmMo àH$ma ñnï> H$am. [7]





Total No. of Questions : 4]

[5801]-407
S.Y. B.Com.

246 B : BANKING & FINANCE - II
Indian Banking System - II

(CBCS 2019 Pattern) (Semester - IV)

Time : 2½ Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory

2) Figures to the right side indicate full marks.

3) See the english question paper for reference.

P2938 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks. (Attempt any 5):  [5]

i) NABARD was established in _____.

a) July 1982 b) July1969

c) June 1951 d) June 1961

ii) _______ is the first co-operative Bank in India.

a) Bharat co-operative bank limited

b) Kangra Central Co-operative Bank Limited

c) Anonya Co-operative Bank Limited

d) Abhyuday Co-operative Bank Limited.

iii) The Narasimham committee was established for________.

a) Agricultural sector Reforms

b) Industrial Sector Reforms

c) Insurance sector Reforms

d) Banking sector Reforms.

iv) _______is the opex body of financial sectors in India.

a) IDBI b) NABARD

c) NHB d) RBI

P.T.O.
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v) Unit Bank has________.

a) One branch b) Two branches

c) No branch d) None of the above.

vi) The amount of the risk weighted assets of the banks equity is
_____.

a) Captial Adequacy Ratio b) Cash Reserve Ratio

c) Statutory Liquidity Ratio d) NPA Management

B) Match the pairs [5]

Group A Group B

i) Prudential Norms a) Promote Industrial Growth

ii) District central Co-operative b) 1998

Banks

iii) Merchant Bank c) One district one bank

iv) Development Bank d) Classification of Assets

v) Narasimham Committee-II e) Portfolio Management

Q2) Write short notes (any 2) [10]

a) Features of Development Banks.

b) Cash Reserve Ratio

c) Digital Banking

d) Principles of Co-operation

Q3) a) Explain challanges before co-operative Banks [8]

b) Explain Role of Development Bank in Indian Economic Development.[7]

Q4) a) Explain advantages of Branch Banking. [8]

b) Elaborate recommendations of Narasimham committee - (I) [7]


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(‘amR>r ê$nm§Va)
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3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P2938

à.à.à.à.à.1) A) [aH$må¶m OmJr ¶mo½¶ n¶m©¶ {bhm. (H$moUVohr nmM) [5]

i) Zm~mS>©Mr ñWmnZm ................. amoOr Pmbr.

A) Owb¡ 1982 ~) Owb¡ 1969

H$) OyZ 1951 S>) OyZ 1961

ii) ............ hr ^maVmVrb n{hbr ghH$mar ~±H$ hmo¶.
A) ^maV ghH$mar ~±H$ ‘¶m©{XV ~) H$m§J«m ‘Ü¶dVu ghH$mar ~±H$ ‘¶m©{XV
H$) AZmoÝ¶ ghH$mar ~±H$ ‘¶m©{XV S>) Aä¶wX¶ ghH$mar ~±H$ ‘¶m©{XV

iii) Zaqgh‘² g{‘VrMr ñWmnZm .................. H$[aVm H$aÊ¶mV Ambobr hmoVr.
A) H¥$fr joÌmVrb gwYmaUm ~) Am¡Úmo{JH$ joÌmVrb gwYmaUm
H$) {d‘m joÌmVrb gwYmaUm S>) ~±H$s¨J joÌmVrb gwYmaUm

iv) .......... hr ^maVmVrb {dÎmr¶ joÌmVrb {eIa g§ñWm hmo¶.
A) Am¶S>r~rAm¶ ~) Zm~mS>©
H$) EZEM~r S>) Ama~rAm¶

v) EH$md¶dr ~±Ho$À¶m .......... AgVmV.
A) EH$ emIm ~) XmoZ emIm
H$) emIm ZgVmV S>) d[abn¡H$s H$mhrhr Zmhr

vi) ~±H$m§À¶m ñd{ZYrMo OmoIr‘^m[aV ‘mb‘Îmoer Agbobo à‘mU åhUOo ............ hmo¶.
A) ^m§S>dbnyV©Vm à‘mU ~) amoI amIrd {ZYr à‘mU
H$) d¡Ym{ZH$ VabVm à‘mU S>) AZwËnmXZ ‘mb‘ÎmoMo ì¶dñWmnZ
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~) ¶mo½¶ OmoS>çm Owidm : [5]

A JQ> ~ JQ>

i) YmoaUnyd©H$ {ZH$f A) Am¡Úmo{JH$ {dH$mgmbm MmbZm

ii) {Oëhm ‘Ü¶dVu ghH$mar ~±H$ ~) 1998

iii) ‘M©ÝQ> ~±H$ H$) EH$ {Oëhm EH$ ~±H$

iv) {dH$mg ~±H$ S>) ‘mb‘ÎmMo dJuH$aU

v) Zaqgh‘² g{‘Vr - II B) nmoQ>©’$mo{bAmo ì¶dñWmnZ

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) {dH$mg ~±Ho$Mr d¡{eï>ço

~) amoI amIrd à‘mU

H$) {S>{OQ>b ~±qH$J

S>) ghH$mamMr VÎdo

à.à.à.à.à.3) A) ^maVmVrb ghH$mar ~±H$m§g‘moarb AmìhmZo ñnï> H$am. [8]

~) ^maVr¶ Am{W©H$ {dH$mgmVrb {dH$mg ~±Ho$Mr ŷ{‘H$m ñnï> H$am. [7]

à.à.à.à.à.4) A) emIm ~±qH$JMo ’$m¶Xo ñnï> H$am. [8]

~) Zaqgh‘² g{‘{V - (I) À¶m {e’$maer g{dñVa ñnï> H$am. [7]


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Q1) A) Fill in the blanks. (Attempt any 5):  [5]

a) ______ has limited liability in the co-operative society.

(Secretary, Members, Registrar)

b) Co-operative Movement first started in _______

(France, England, Germany)

c) ________the competition Act, 2002 come in to force.

(1st April 2004, 31st March 2003, 1st May 2002)

d) Premium is paid on______value.

(Property, Policy, Insured)

e) ________life insurance sector was nationalized.

(1990, 1949, 1956)

f) An adult worker is allowed to work for _________hours in a week.

(35, 48, 40)

P.T.O.
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B) Match the following. [5]

Group A Group B

i) First co-operative Law a) Once in the year

ii) Annual general meeting b) Protection from financial Loss

iii) Insurance c) 1904

iv) CCI d) Weapon in the hands of worker

v) Strike e) Competition Commission of India

Q2) Write short notes on (any 2) [10]

a) De-registration of co-operative society

b) Social Responsibility of LIC.

c) Powers of competition commission.

d) Scope of Industrial dispute.

Q3) a) Define co-operative society. Explain its features of co-operative society.
[8]

b) Explain the importance of life Insurance. [7]

Q4) a) What do you mean by ‘competition’. Explain the objectives and scope
of competition Act, 2002. [8]

b) Explain the causes and consequences of industrial disputes. [7]





3[5801]-408

Total No. of Questions : 4]

[5801]-408
S.Y. B.Com.

246 - C : BUSINESS LAW & PRACTICES-II
(2019 Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
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P2939

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ............. Mo ghH$mar g§ñWo‘Ü¶o ‘¶m©{XV Xm{¶Ëd Amho.

(g{Md, g^mgX, {Z~§YH$)

ii) ghH$mar Midi àW‘ ............... ‘Ü¶o gwê$ Pmbr.

(’«$mÝg, B§½b§S>, O‘©Zr)

iii) ñnYm© H$m¶Xm 2002 ............ ‘Ü¶o A‘bmV Ambm.

(1 E{àb 2004, 31 ‘mM© 2003, 1 ‘o 2002)

iv) {då¶mMm hâVm ............ da ^abm OmVmo.

(‘mb‘Îmm, {d‘mnÌ, {d‘m CVa{dUo)

v) ........... ‘Ü¶o OrdZ {då¶mMo amï´>r¶rH$aU Pmbo.

(1990, 1949, 1956)

vi) àm¡T> H$m‘Jmambm AmR>dS>çmVyZ ............... Vmg H$m‘ H$aÊ¶mMr nadmZJr Amho.

(35, 48, 40)
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~) ¶mo½¶ OmoS>çm Owidm : [5]

A JQ> ~ JQ>

i) n{hbm ghH$mar H$m¶Xm A) dfm©VyZ EH$Xm

ii) dm{f©H$ gd©gmYmaU g^m ~) Am{W©H$ ZwH$gmZ g§ajU

iii) {d‘m H$) 1904

iv) gr. gr. Am¶. S>) H$m‘Jmam§À¶m hmVmVrb eñÌ

v) g§n B) ^maVmVrb ñnYm© Am¶moJ

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ghH$mar g§ñWoMr Zm§oXUr aX²X H$aUoo

~) Eb.Am¶.gr. Mr gm‘m{OH$ O~m~Xmar

H$) ñnYm© Am¶moJmMo A{YH$ma

S>) Am¡Úmo{JH$ {ddmXmMr ì¶már

à.à.à.à.à.3) A) ghH$mar g§ñWoMr ì¶m»¶m {bhm. ghH$mar g§ñWoMr d¡{eï>¶o ñnï> H$am. [8]

~) OrdZ {då¶mMo ‘hÎd ñnï> H$am. [7]

à.à.à.à.à.4) A) "ñnYm©' ¶m eãXmMm AW© gm§JyZ ñnYm© H$m¶XçmMr C{X²Xï>ço d ì¶már ñnï> H$am. [8]

~) Am¡Úmo{JH$ {ddmX H$m¶XçmMr H$maUo d n[aUm‘ ñnï> H$am. [7]


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Q1) A) Fill in the blanks. (Attempt any 5):  [5]

i) The Co-operative Societies Act was passed in India in the
year______.

a) 1910

b) 1912

c) 1914

ii) ______ is responsible to maintain minutes book of the co-operative
society.

a) Treasurer

b) Secretary

c) Registrar

iii) A society having village as its area of operation is known as_____.

a) Primary society

b) Bank

c) Secondary society

iv) The structure of co-operation is _______.

a) Two Tier

b) Three Tier

c) Unitary

P.T.O.
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v) Maharashtra State Co-operative Societies Act was passed in the
year______.

a) 2001

b) 1963

c) 1960

vi) Amendment in Maharashtra Co-operative Societies Act was made
in the year _____.

a) 2010

b) 2020

c) 2013
B) Match the following. [5]

      Part A          Part B

i) Objective of co-operative society a) Constitution of society

ii) Dairy co-operative  society b) Limited Liability

iii) Bye-Laws of co-operative society c) State Level

iv) Members of co-operative society d) Service

v) Apex society e) Production Bonus

Q2) Write short notes (any 2) [10]

a) Benefits of co-operative legislation

b) Objectives of Multi-state co-operative society

c) Audit of co-operative societies

d) Dairy co-operative societies

Q3) a) Explain the history of co-operative legislation in India. [8]

b) Explain the functions of Central Registrar as per Multi-State Co-operative
Societies Act. [7]

Q4) a) Explain the provisions of Maharashtra State Co-operative societies Act,
1960 regarding Registration of co-operative societies. [8]

b) Explain problems of urban co-operative Banks. [7]


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P2940

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) ^maVm_Ü ò ghH$mar g§ñWm H$m`Xm ........... gmbr g§_V Pmbm.

A) 1910

~) 1912

H$) 1914

ii) ghH$mar g§ñWo_Ü ò g ôMo B{Vd¥Îm {bhÿZ R>odÊ`mMr O~m~Xmar ........... `m§Mr AgVo.

A) I{OZXma

~) g{Md

H$) {Z~§YH$

iii) Á`m ghH$mar g§ñWoMo H$m ©̀joÌ JmdmnwaVo _`m©{XV Amho Ë`mbm ........... åhUVmV.

A) àmW{_H$ g§ñWm

~) ~±H$

H$) Xþæ`_ g§ñWm

iv) ghH$mar g§ñWoMr aMZm ............. AgVo.

A) {ÛñVar`

~) {ÌñVar`

H$) EH$mpË_H$
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v) _hmamï´> amÁ` ghH$mar H$m`Xm ............. gmbr g§_V Pmbm.
A) 2001

~) 1963

H$) 1960

vi) _hmamï´> amÁ` ghH$mar H$m`Úm_Ü ò ............ gmbr gwYmaUm H$aÊ`mV Amë`m.
A) 2010

~) 2020

H$) 2013

~) OmoS>çm Owidm. [5]
A JQ> ~ JQ>

i) ghH$mar g§ñWoMo C{ÔîQ>ç A) ghH$mar g§ñWoMr KQ>Zm
ii) Xþ½Y ghH$mar g§ñWm ~) _`m©{XV O~m~Xmar
iii) ghH$mar g§ñWoMo Cn{Z`_ H$) amÁ`ñVar`
iv) ghH$mar g§ñWoMo g^mgX S>) godm
v) {eIa g§ñWm B) CËnmXZ ~moZg

à.à.à.à.à.2) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ghH$mar H$m`Xçm§Mo _hËd
~) ~hþamÁ` ghH$mar g§ñWm H$m`XçmMr C{Ôï>o
H$) ghH$mar g§ñWoMo A§Ho$jU
S>) Xþ½Y ghH$mar g§ñWm

à.à.à.à.à.3) A) ^maVmVrb ghH$mar H$m`Xçm§Mm B{Vhmg ñnï> H$am. [8]

~) ~hþamÁ` ghH$mar g§ñWm H$m`XçmZwgma H|$Ðr` {Z~§YH$m§Mr H$m }̀ ñnï> H$am. [7]

à.à.à.à.à.4) A) _hmamï´> amÁ` ghH$mar g§ñWm H$m`Xm, 1960 Zwgma ghH$mar g§ñWoÀ`m Zm|XUr g§~§Yr VaVwXr ñnï>
H$am. [8]

~) ZmJar ghH$mar ~±H$m§À`m g_ñ`m ñnï> H$am. [7]


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Q1) a) Fill in the blanks by choosing the proper alternative given in the bracket
(any five). [5]

i) Store ledger is maintained by _______ . (store keeper, cost
accounatant, Purchase Manager)

ii) When prices fluctuate widely ______ method is used. (FIFO,
Simple Average, Weighted Average)

iii) ______ is the payment to labour for its assistance to production.
(Incentive, wages, bonus)

iv) Job ________ is the assessment of the relative worth of jobs within
a company. (Evaluation, Analysis, Merit rating)

v) Dissatisfaction with working conditions is _______ cause. (personal,
avoidable, unavoidable)

vi) Payroll sheet is prepared by the ________ department. (payroll,
Personnel, Accounts)

b) Match the following [5]

Group ‘A’ Group ‘B’

1) Time Keeping a) Incentive plan

2) Flux method b) Job Evaluation

3) Halsey Plan c) Strategy to minimize inventory

4) JIT inventory d) Labour Turnover Rate

5) Point Rating method e) Bio-metric system

P.T.O.
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Q2) Write short notes on any two of the following: [10]

a) Distinction between bin card and stores ledger

b) Job analysis

c) Store location and layout

d) Methods of Time Keeping

Q3) a) The following transactions took place relating to Material X during January
2022:

Date Particular Quantity (Kg.) Rate per unit (Rs.)

Jan. 02 Received 2,000 10

Jan. 06 Received 300 12

Jan. 09 Issued 1,200 --

Jan. 10 Received 200 14

Jan. 11 Issud 1,000 --

Jan. 22 Received 300 15

Jan. 31 Issued 200 ---

You are required to prepare the Stores Ledger Account under the FIFO
methods and also calculate the closing stock. [8]

b) From the following particulars supplied by the personal department of a
XYZ Ltd, calculate labour turnover rate under Separation, Replacement
and Flux method.

Total number of employees at the beginning of the month 2,010

Total number of employsees at the end of the month 1,990

Number of employees who left during the month 50

Number of employees who are recruited during the month 30 [7]

Q4) a) From the following information calculate the wages of 3 workers under
Taylors Defferential piece rate. Standard production is 120 units. Rate
per unit Rs. 10. Worker X Produced 100 units, Y produced 120 units
and Z produced 130 units. [8]

b) Explain in brief the concept of ‘Enterprise Resource Planning’. Explain
the advantages and Disadvantages of ERP. [7]



ˆ
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Q1) Choose the correct alternative from each of the following. (any ten)  [10]

a) In time series analysis the method of moving averages, is used to
estimate_____.

i) seasonal variations ii) cyclical variations

iii) irregular variations iv) trend

b) In time series analysis, method of simple averages is used to estimate____.

i) trend ii) Seasonal variations

iii) cyclical variations iv) irregular variations

c) In time series analysis the exponential smoothing method helps to ____.

i) remove trend ii) estimate exponential trend

iii) estimate logarithmic trend iv) smoothout the fluctuations

d) The cost of slack variable is______.

i) –1 ii) 0

iii) 1 iv) 2

e) If the primal problem has n constraints and m variables then the no. of
constraints in the dual problem is _____.

i) n ii) m

iii) m+n iv) m–n

f) In a L.P.P. functions to be maximized or minimized are called _____.

i) objective function ii) constraints

iii) basic solution iv) feasible solution

P.T.O.
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g) When the total no. of demand is equel to no. of supply then the
transportation problem is said to be _____.
i) balanced ii) unbalanced
iii) minimization iv) maximization

h) If one or more variable vanish in transportation problem then a basic
solution to the system is called____.
i) basic solution ii) feasible solution
iii) degenerate solution iv) non feasible solution

i) The solution to a transportation problem with m- sources and n-
destinations is feasible if the number of allocations are
i) m+n ii) m–n
iii) mn iv) m+n–1

j) The assignment problem is alwasy a_____ matrix.
i) square ii) circle
iii) rectangle iv) triangle

k) Which of the following is used to come up with a solution to the assignment
problem?
i) Modi method ii) North west corner method
iii) Hungarian method iv) Stepping stone method

l) maximization assignment problem is transformed into a minimization
problem by______.
i) adding each entry in a coloumn from the maximum value in that

column.
ii) Subtracting each entry in a coloumn from the maximum value in that

column.
iii) Subtracting each entry in a table from the maxium value in the table.
iv) adding each entry in a table from the maximum value in that table.

Q2) Attempt each of the following. [5 each]
a) Describe the form ‘Business cycle’. What are the four phases of business

cycle? What are the subjects of studying business cycle.
b) Fit a trend line to the following time series by the least square method

Year (t) 2015 2016 2017 2018 2019
Production(Yt) 12 20 28 32 50
(in lakh tons)

Estimate production for 2022 and 2024.
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c) Estimate the trend using 10% smoothing constant for the following time
series.

   t 1 2 3 4 5 6 7 8 9 10

  Yt 31 37 39 41 41 39 33 29 27 29

Q3) Attempt each of the following. [5 each]

a) Explain the real life situations from business where simple method may
be used.

b) Obtain initial simplex table for
 Maximize z =5x

1
+3x

2

 Subject to  x
1
+x

2
 ≤ 2

5x
1
+2x

2 
≤ 10

3x1+8x2 ≤ 12

 x
1
, x

2 
≥ 0

c) Obtain dual of the following L.P.P.

Minimize z =7x
1
+3x

2
+8x

3

 Subject to  8x1+2x2+x3 ≥3

3x
1
+6x

2 
+4x

3 
≥4

4x
1
+x

2
+5x

3
 ≥1

 x
1
+5x

2 
+2x

3 
≥7

x1, x2 x3 ≥ 0

Q4) Attempt each of the following.

a) Obtain initial basic solution using North-West Corner method for the
following transportation problem. [5]

     Markets

Sources D
1

D
2

D
3

Supply

O
1

5 1 8 12

O2 2 4 0 14

O
3

3 6 7 4

Demand 9 10 11 30
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b) Obtain initial basic feasible solution using VAM for the following
transportation problem [10]

   Destinations

Sources D
1

D
2

D
3

D
4

Supply

S1 11 13 17 14 250

S2 16 18 14 10 300

S
3

21 24 13 10 400

Demand 200 225 275 250 950

Q5) Attempt each of the following. [15]

a) Describe mathematical model for assignment problem (A.P)

b) Describe the procedure of Hangarian method to solve the assignment
problem:

c) Find allocation that minimizes the overall processing cost, for the following
problem.

Jobs J
1
, J

2
, J

3
, J

4
 are to be assigned to machines m

1
, m

2
, m

3
, m

4
. The

processing cost ( '00 Rs.) are given below.

M
1

M
2

M
3

M
4

J
1

1 4 6 3

J
2

9 7 10 9

J3 4 5 11 7

J
4

8 7 8 5

Q6) Write short notes on the following. (any 3) [3×5=15]

a) Explain how to fit AR(1)

b) Seasonal variations.

c) Transportation problem.

d) Balanced and unbalanced transportation problem.

c) Assignment problem.


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Q1) A) Fill in the blanks. (any 5)  [5]

i) MSME stands for_____.

a) Micro, Small and Medium Enterprises.

b) Macro, Small and Medium Enterprises.

c) Micro, Scale and Medium Enterprises

ii) ______plays a key role in the process of Economic development.

a) Entrepreneurer

b) Seller

c) Customer

iii) Mr. Ritesh Agarwal is the CEO of_______.

a) JYO Rooms

b) OYO Rooms

c) UYO Rooms

iv) Mumbaiche Dabewale was started in _______ by Mr. Mahadeo
Havaji Bachche.

a) 1947

b) 1952

c) 1890

P.T.O.
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v) Manufacturing of goods is related to ______sector.

a) Service

b) Primary

c) Secondary

vi) Self Help Group involves_____people.

a) 5-20

b) 10-20

c) 15-25
B) Match the following. [5]

Group A Group B

i) India a) Service sector

ii) Mr. Ratan Tata b) Bank Linkage Programme

iii) Hotel c) Developing country

iv) Self Help Group d) Padma Bhushan

v) Covid-19 e) Developed country

f) Wuhan

g) Color coding system

Q2) Write short notes (any 2) [10]

a) Administration Functions of Self Help Group.

b) Success Factors of Service ventures.

c) Mr. Sanjeev Bhikchandani (naukri. Com)

d) Economical Challenges in entrepreneurship development.

Q3) a) Explain the advantages of group intrepreneurship. [8]

b) Explain the role of service sector in national economy. [7]

Q4) a) Discuss the challenges of Globalisation in entrepreneurship. [8]

b) Explain the functions of Mumbaiche Dabewale’. [7]


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nmhmdr.

P2943

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË`mhr nmM) [5]

i) E_ Eg E_ B© åhUOo ................

A) gwú_, bKy Am{U _Ü`_ CnH«$_

~) g_J«, bKy Am{U _Ü`_ CnH«$_

H$) gwú_, loUr Am{U _Ü`_ CnH«$_

ii) Am{W©H$ {dH$mg à{H«$ ò_Ü ò ............... ho _w»` ŵ{_H$m {Z^mdV AgVmV.

A) CÚmoOH$

~) {dH«o$Vm

H$) J«mhH$

iii) lr. [aVoe AJadmb ho ............. Mo grB©Amo AmhoV.

A) Oo. dm`. Amo. ê$åg

~) Amo. dm`. Amo. ê$åg

H$) ỳ. dm`. Amo. ê$åg

iv) _w§~B©Mo S>~odmë`m§Mr gwê$dmV hr lr. _hmXod hdOr ~ƒo `m§Zr ............. gmbr Ho$br.

A) 1947

~) 1952

H$) 1890
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v) dñVw§Mo CËnmXZ ho ............. joÌmer g§~§{YV Amho.
A) godm
~) àmW{_H$
H$) {ÛVr`

vi) ñd §̀ ghmæ`Vm JQ>m_Ü ò ............... bmoH$m§Mm g_mdoe hmoVmo.

A) 5-20

~) 10-20

H$) 15-25

~) OmoS>çm bmdm. [5]

JQ> A JQ> ~

i) ^maV A) godm joÌ

ii) lr. aVZ Q>mQ>m ~) ~±H$ OmoS>Ur H$m`©H«$_

iii) CnhmaJ¥h H$) {dH$gZerb Xoe

iv) ñd §̀ ghmæ`Vm JQ> S>) nX²_ ŷfU

v) H$moìhrS> - 19 B) {dH$grV Xoe

’$) dyhmZ
`) a§J H$moqS>J nÕV

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ñd`§ ghmæ`Vm JQ>mMo àemgH$s` H$m`©.
~) godm CXç_mMo `eñdrVoMo KQ>H$.
H$) lr. g§Ord {^H$M§XmZr (Zm¡H$ar S>m°Q> H$m°_).
S>) CÚmoOH$Vm {dH$mgmVrb Am{W©H$ AmìhmZo.

à.à.à.à.à.3) A) g_wh CÚmoOH$VoMo \$m`Xo ñnï> H$am. [8]

~) amï´>r` AW©ì`dñWoVrb godm joÌmMr ŵ{_H$m ñnï> H$am. [7]

à.à.à.à.à.4) A) CÚmoOH$VoVrb OmJ{V{H$H$aUmÀ`m AmìhmZm§Mr MMm© H$am. [8]

~) _w§~B©Mo S>~odmë`mMr H$m }̀ ñnï> H$am. [7]


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Q1) A) Fill in the blanks (any 5).  [5]

a) The activities driven towards efficient handling and management of
wastage are referred to as ______.

(best management, waste management, time management)

b) Green marketing is also known as _____

(environmental marketing, colour marketing, forest marketing)

c) _____ is the promotion which is published and released outside
the internet.

(on-line, e-commerce, off line)

d) _____ has brought a turning point for the business accross the
world.

(local marketing, international marketing, national marketing)

e) Computing, communication and content is known as _____

(e-marketing, C.P.C., media marketing)

f) ‘You Tube’ marketing is a type of _____ marketing.

(environmental, social-media, green)

P.T.O.
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B) Match the following. [5]

Group ‘A’ Group ‘B’

i) Twitter marketing a) Beyond national boundries

ii) International marketing b) Marketing tool offered by
google

iii) Video promotion c) 24×7 marketing

iv) Utility of e-marketing d) Digital marketing

v) Environmental marketing e) WhatsApp marketing

f) Green marketing

Q2) Write short notes on any 2. [10]

a) Importance of Green marketing.

b) Challenges before e-marketing.

c) Facebook marketing.

d) Facts of international marketing.

Q3) a) Define “Green Marketing”. Explain the objectives of Green marketing.[8]

b) What is e-marketing? Explain its limitations. [7]

Q4) a) What is social media marketing? Explain its types. [8]

b) What do you mean by International marketing? What are its objectives.[7]


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 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

P2944

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) Anì¶¶ H$m¶©j‘ hmVmiUr Am{U ì¶dñWmnZmgmR>r Mmb{dboë¶m {H«$¶m§Zm .......... Ago
g§~moYbo OmVo.

(gdm}Îm‘ ì¶dñWmnZ, Anì¶¶ ì¶dñWmnZ, doioMo ì¶dñWmnZ)

ii) h[aV {dnUZmbm ............ Agohr åhUVmV.

(n¶m©daUmË‘H$ {dnUZ, a§J {dnUZ, dZ {dnUZ)

iii) ............. Om{hamV hr Aer Om{hamV Amho Or B§Q>aZoQ>À¶m ~mhoa à{gÕ Am{U àH$m{eV
Ho$br OmVo.

(Am°ZbmB©Z, B©-H$m°‘g©, Am°’$bmB©Z)

iv) .............. ho OJ^amVrb ì¶dñmm¶mgmR>r EH$ n[adV©Z q~Xÿ åhUyZ g‘Obm OmVmo.

(ñWm{ZH$ {dnUZ, Am§Vaamï´>r¶ {dnUZ, amï´>r¶ {dnUZ)

v) JUZ, g§àofU Am{U gm‘J«r ................ åhUyZ AmoiIbo OmVo.

(B©-{dnUZ, gr.nr.gr., ‘mÜ¶‘ {dnUZ)

vi) "¶y-Q>çy~' {dnUZ ............ {dnUZmMm EH$ àH$ma Amho.

(n¶m©daUmË‘H$, àgma ‘mÜ¶‘o, h[aV)
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~) ¶mo½¶ OmoS>çm bmdm. [5]

JQ> "A' JQ> "~'

i) {Q‰>Q>a {dnUZ A) amï´>r¶ gr‘m§À¶m nbrH$S>o

ii) Am§Vaamï´>r¶ {dnUZ ~) JwJbÛmao àmá Pmbobo {dnUZ
gmYZ

iii) pìh{S>Amo Om{hamV H$) 24×7 {dnUZ

iv) B-{dnUZmMr Cn¶mo{JVm S>) {S>OrQ>b {dnUZ

v) n¶m©daU {dnUZ B) ìhm°Q>gn {dnUZ

’$) h[aV {dnUZ

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) h[aV {dnUZmMo ‘hÎd

~) B-{dnUZm nwT>rb AmìhmZo

H$) ’o$g~wH$ {dnUZ

S>) Am§Vaamï´>r¶ {dnUZmMo n¡by

à.à.à.à.à.3) A) h[aV {dnUZ åhUOo H$m¶? h[aV {dnUZmMo C{X²Xï>ço ñnï> H$am. [8]

~) B-{dnUZ åhUOo H$m¶? B-{dnUZmÀ¶m ‘¶m©Xm {bhm. [7]

à.à.à.à.à.4) A) gm‘m{OH$ àgma‘mÜ¶‘mÛmao {dnUZ åhUOo H$m¶? Am{U Ë¶mMo àH$ma gm§Jm. [8]

~) Am§Vaamï´>r¶ {dnUZ åhUOo H$m¶? Ë¶m§Mr C{X²Xï>ço gm§Jm. [7]


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Q1) A) Fill in the blanks (attempt any 5 out of 6).  [5]
i) In _____ market, future sale and purchase of commodities will

take place at current time.
a) Forward b) International
c) Perfect d) Spot

ii) Farm management is an _______
a) Intrafarm science
b) Interfarm science
c) Inter - Regional farm science
d) International farm science

iii) _____ is adopted to desert condition.
a) Goats b) Buffaloes
c) Camels d) Cows

iv) External Commercial Borrowings (ECBs) form part of _____
a) Current account b) Capital account
c) Balance of payment d) Balance of trade

v) Productivity =
a) Input/Output b) Output/Input
c) Output-Input d) Input-Output

vi) Productivity is the ______ of production system.
a) Measurement
b) Efficiency
c) Measurment and Efficiency
d) Capital

P.T.O.
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B) Match the following. [5]

A B

i) Agricultural Risk a) FDI

ii) ICICI b) Price fluctuation

iii) Foreign capital c) Source of Industrial finance

iv) Canara bank d) Public sector

v) Operation flood e) Milk

Q2) Write a short notes on (any 2 out of 4) : [10]

a) Farm management.

b) Nature of Risk and Uncertainty in Agriculture.

c) Importance of Industrial finance.

d) Productivity measurment.

Q3) a) Explain the recent changes in farm management. [8]

b) Explain the strategies to manage the risk and uncertainty in Agriculture.[7]

Q4) a) Explain the need of foreign capital. [8]

b) State the factors affecting on productivity. [7]


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AGRICULTURAL  AND INDUSTRIAL ECONOMICS - II (246(i))
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

P2945

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (ghmn¡H$s H$moUË¶mhr nmM) [5]

i) Á¶m ~mOmamV ^{dî¶mVrb dñVy§Mr IaoXr {dH«$s hmoVo Ë¶mg ............... ~mOma åhUVmV.

A) dm¶Xm ~) Am§Vaamḯ>r¶

H$) nyU© S>) hOa

ii) H¥$fr ì¶dñWmnZ ............... Amho.

A) B§Q´>m’$m‘© gm¶Ýg ~) Am§VaeoVr {dkmZ

H$) Am§Va-àmXo{eH$ eoVr {dkmZ S>) Am§Vaamï´>r¶ eoVr {dkmZ

iii) dmid§Q> pñWVrV ........... àmUr nmibm OmVmoo.

A) eoù¶m ~) åher

H$) C§Q> S>) Jm¶

iv) ~mø ì¶mdgm{¶H$ H$O© ................. Mm ^mJ ~ZVmV.

A) Mmby ImVo ~) ^m§S>dbr ImVo

H$) ì¶dhma Vmob S>) ì¶mnma Vmob

v) CËnmXH$Vm = ................

A) BZnyQ>/AmCQ>nyQ> ~) AmCQ>nyQ>/BZnyQ>

H$) AmCQ>nyQ>-BZnyQ> S>) BZnyQ>-AmCQ>nyQ>

vi) CËnmXZ àUmbrMr CËnmXH$Vm hr ........... Amho.

A) ‘moO‘mn ~) H$m¶©j‘Vm

H$) ‘moO‘mn Am{U H$m¶©j‘Vm S>) ^m§S>db
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~) OmoS²>¶m Owidm. [5]

A ~

i) H¥$fr YmoH$m A) naH$s¶ WoQ> Jw§VdUyH$ (FDI)

ii) Am¶.gr.Am¶.gr.Am¶. (ICICI) ~) qH$‘V MT>CVma

iii) naH$s¶ ^m§S>db H$) Am¡Úmo{JH$ {dÎmmMm ñÌmoV

iv) H°$Zam ~±H$ S>) gmd©O{ZH$ joÌ

v) Am°naoeZ âbS> B) XþY

à.à.à.à.à.2) {Q>nm {bhm. (Mman¡H$s H$moUË¶mhr XmoZ) [10]

A) eoVr ì¶dñWmnZ

~) H¥$fr joÌmVrb YmoH$m Am{U A{ZpíMVVoMo ñdê$n

H$) Am¡Úmo{JH$ {dÎmmMo ‘hÎd

S>) CËnmXH$Vm ‘mnZ

à.à.à.à.à.3) A) eoVr ì¶dñWmnZmVrb A{bH$S>À¶m H$mimVrb ~Xb ñnï> H$am. [8]

~) H¥$fr joÌmVrb YmoH$m Am{U A{ZpíMVÎmm ì¶dñWmnZmÀ¶m ì¶yhaMZm ñnï> H$am. [7]

à.à.à.à.à.4) A) naH$s¶ ^m§S>dbmMr JaO ñnï> H$am. [8]

~) CËnmXH$Îmoda n[aUm‘ H$aUmao KQ>H$ gm§Jm. [7]


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Q1) Attempt any five of the following. [5×2=10]
a) State the concept of war potential.
b) State the concept of war finance.
c) Define third world countries.
d) State the role of the department of defence production.
e)  Define war time economy.
f) What is external security?

Q2) Attempt any four of the following. [4×5=20]
a) Industrial power.
b) War potential
c) Arms race
d) Rationing.
e) Inflation.

Q3) Attempt any four of the following. [4×5=20]
a) Explain the cost of war.
b) Explain the role of the department of defence production.
c) Explain elements of war potential.
d) Explain third world countries, meaning and concept.
e) Explain the importance of DRDO in war.

Q4) Attempt any two of the following. [2×10=20]
a) Explain in detail arms production in the third world countries.
b) Explain in detail salient features of the indian economy.
c) Explain in detail determinants of defence expenditure.


P.T.O.
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2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P2946

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]
A) ẁÕ J{V_mZVoMr g§H$ënZm gm§Jm.
~) ẁÕmVrb {dÎmnwadR>çmMr g§H$ënZm gm§Jm.
H$) {Vgè`m OJmVrb amï´> ì`m»`m Úm.
S>) g§ajU CËnmXZ {d^mJmMr ŷ{_H$m gm§Jm.
B) ẁÕH$mbrZ AW©ì`dñWm ì`m»`m Úm.
\$) ~{h©JV gwajm åhUOo H$m`?

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]
A) Am¡Úmo{JH$ eº$s
~) dm°a nmoQ>opÝe`b
H$) eómó ñnYm©
S>) aoeqZJ
B) MbZdmT>

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]
A) `wÕmMr qH$_V ñnï> H$am.
~) g§ajU CËnmXZ {d^mJmMr ŷ{_H$m ñnï> H$am.
H$) ẁÕm JVr_mZVoMo KQ>H$ ñnï> H$am.
S>) {Vgè`m OJmVrb amï´> AW© Am{U g§H$ënZm ñnï> H$am.
B) S>rAmaS>rAmoMo ẁÕmVrb _hËd ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]
A) {Vgè`m OJmVrb amï´>mVrb eómóo CËnmXZ g{dñVa ñnï> H$am.
~) ^maVr` AW©ì`dñWoVrb gwá KQ>H$ g{dñVa ñnï> H$am.
H$) g§ajU CËnmXZmMo KQ>H$ g{dñVa ñnï> H$am.


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Q1) A) Fill in the blanks (Any five). [5]
i) Push factor in tourism is_____

a) Facilities
b) Prestige
c) Services

ii) A person who moves from one location to another is known as_____
a) Tourist
b) Traveller
c) Inbound tourist

iii) Which is the most important economic benefit of tourism?
a) Increase in employment
b) Increase in production
c) Foreign exchange.

iv) Which of the following is not a major component of tourism?
a) Transport
b) Accomodation
c) Tour operator.

v) Which financial organization authorities the foreign currency dealers
to buy and sell foreign currency in India?
a) State Bank of India
b) Reserve Bank of India
c) Ministry of Finance

vi) Hospitality dimension of tourism is given much importance for the
first time in the history of tourism development in India in which
policy?
a) Tourism policy 1982
b) National Action plan of tourism 1992
c) National tourism policy 2002

P.T.O.
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B) Match the following. [5]

Group A Group B

i) Beach tourism a) Thomas cook

ii) Agro tourism b) Cox & kings

iii) Tourism economy c) On coast line

iv) National committee on tourism d) Visiting working form

v) Pioneer of the travel

Agency business e) 1986

f) 5 % of world GDP

g) 100%

Q2) Short notes (any 2) [10]

a) Inter-regional tourism.

b) Sport tourism.

c) Carrer opportunities in tourism.

d) Scope of tourism in India.

Q3) a) Explain the role of government in tourism development. [8]

b) State cultural tourism in detail. [7]

Q4) a) Give the economic impact of tourism. [8]

b) Which challenges faced by Indian tourism sector? [7]


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 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P2947

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) n¶©Q>ZmV nwe ’°$³Q>a .............. Amho.
A) gw{dYm
~) à{Vð>m
H$) godm

ii) EH$m {R>H$mUmhÿZ Xþgè¶m {R>H$mUr {’$aUmar ì¶º$s ............ åhUyZ AmoiIbr OmVo.
A) n¶©Q>Z
~) àdmgr
H$) A§VJm©‘r n¶©Q>Z

iii) n¶©Q>ZmMm gdm©V ‘hÎdmMm Am{W©H$ ’$m¶Xm H$moUVm Amho?
A) amoOJmamV dmT>
~) CËnmXZmV dmT>
H$) naH$s¶ MbZ

iv) Imbrbn¡H$s H$moUVm n¶©Q>ZmMm à‘wI KQ>H$ Zmhr?
A) dmhVwH$
~) {Zdmg
H$) Qy>a Am°naoQ>a

v) H$moUVr {dÎmr¶ g§ñWm naH$s¶ MbZ {dHo«$Ë¶m§Zm ^maVmV {dXoer MbZ IaoXr Am{U {dH«$s
H$aÊ¶mMo A{YH$ma XoVo?
A) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m
~) ^maVr¶ [aPd© ~±H$
H$) AW© ‘§Ìmb¶

vi) ^maVr¶ n¶©Q>Z {dH$mgmÀ¶m B{VhmgmV àW‘M n¶©Q>ZmÀ¶m Am{VÏ¶erbVobm OmñV ‘hÎd
H$moUË¶m YmoaUmV XoÊ¶mV Ambo?
A) n¶©Q>Z YmoaU1982
~) n¶©Q>ZmMr amï´>r¶ H¥$Vr ¶moOZm 1992
H$) amï´>r¶ n¶©Q>Z YmoaU 2002



4[5801]-416

~) OmoS>çm Owidm. [5]

"A' JQ> "~' JQ>

i) g‘wÐ{H$Zmam n¶©Q>Z A) Wm°‘g Hw$H$

ii) H¥$fr n¶©Q>Z ~) H$m°³g A°ÊS> qH$½O²

iii) n¶©Q>Z AW©ì¶dñWm H$) {H$ZmanQ²>Q>rda

iv) n¶©Q>Zmdarb amï´>r¶ g{‘Vr S>) H$m‘ H$aUmè¶m eoVmbm ôQ>

v) Q´>°ìhb EOÝgr ì¶dgm¶mMo àUoVo B) 1986

’$) OmJ{VH$ OrS>rnrÀ¶m 5 %

¶) 100%

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) Am§Va-àmXo{eH$ n¶©Q>Z

~) {H«$S>m n¶©Q>Z

H$) n¶©Q>Z joÌmVrb amoOJma g§Yr

S>) ^maVr¶ n¶©Q>ZmMr ì¶már

à.à.à.à.à.3) A) n¶©Q>Z {dH$mgmVrb gaH$maMr ŷ{‘H$m ñnï> H$am. [8]

~) gm§ñH¥${VH$ n¶©Q>Z Vnerbdma gm§Jm. [7]

à.à.à.à.à.4) A) n¶©Q>ZmMo Am{W©H$ n[aUm‘ gm§Jm. [8]

~) ^maVr¶ n¶©Q>Z joÌmbm H$moUË¶m AmìhmZm§Zm gm‘moao Omdo bmJVo? [7]





Total No. of Questions : 6]

[5801]-417
S.Y.B. Com.

246 L : COMPUTER PROGRAMMIG AND APPLICATION -II
Relational Database Management System

(CBCS 2019 Pattern) (Semester -IV)

Time :2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q.No.1 and Q.No. 6 compulsary.
2) Solve any three questions from the remaining questions No. 2, 3, 4 and 5.
3) Figure to the right indicate full marks.

P2948 [Total No. of Pages : 2
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Q1) A) Fill in the blanks (any 5) [5]
i) ODBC stands for___________

a) Open database connectivity
b) Over database concept.
c) Open database contacts
d) Over database contacts.

ii) _________key ensure the referential integrity. of the data in one
table to match the values in another table.
a) Primary key b) foreign key
c) Unique key d) Not null key

iii) _________ is relationship between the parent and child can be
depicted in a query result as a tree
a) Scalar query b) Hierarchical query
c) Correlated query d) Muliple column subquery

iv) _______ is special one row, one column table presented by default
in all oracle databases
a) DUAL b) Employee
c) Dumny d) Default

v) _____ command removes user access right to the database objects.
a) Grant b) Revoke
c) Constraint d) Privileges

vi) ________ SQL commands are used for providing security to
database objects.
a) DML b) DDL
c) DCL d) TCL

P.T.O.
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B) Match the pair [5]
Group A Group B

1) Table a) Set of all possible values
for relation

2) Record b) Collection of related data
3) Field c) vertical entity in a table
4) Column d) individual entry in a table
5) Domain e) Smaller entities in a table

Q2) Answer the following questions. [15]
a) What is DDBMS?
b) Explain super key and candidate key.
c) Write advantages of RDBMS.

Q3) Answer the following Questions. [15]
a) Write an SQL constraints.
b) What is sequence and synonyms?
c) Explain aggregate function.

Q4) Answer the following  questions. [15]
a) Explain Date and time functions.
b) Write an Rollup and cube operator.
c) What are joins? Explain any two joins.

Q5) Answer the following  questions. [15]
a) Explain user priviteges in detail.
b) What is universal data access?
c) Write an co-related subqueries.

Q6) Write short note on following (Any 3) [15]
a) TCL
b) View
c) JDBC
d) Disadvantages of RDBMS.
e) Multiple column subqueries.



ˆ
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Q1) A) Fill in the blanks: [5]

i) The information of MIS comes from the boot_______ source.

a) External b) Superficial

c) Internal d) Internal and External

ii) Full form of ESS is_________________

a) Essential Student System b) Executive Support System

c) Executive Sub System d) Examination Student Support

iii) __________ is the component of Information system

a) Source b) Data

c) Product d) Strategy

iv) ERP is an_________

a) Enterprise Resource Planning

b) Enterprise Research Product

c) Enterprise Research Process

d) Entrepreneus Resource Process

v) The decision support system is used only for__________

a) Information Retrieval b) Information Storage

c) Decision Making d) Manage Information

P.T.O.
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B) Match the Pairs: [5]

i) MIS a) Supports Decision Making

ii) Data b) Executive support system

iii) ESS c) ERP Technology

iv) DSS d) Financial module for business

v) ERP software e) Information

Q2) Write short note on the following (Any two) [10]

a) Information System

b) Components of DSS

c) Need of MIS

Q3) Answer the following questions (Any four) [20]

a) What is DSS? Explain.

b) Give any four benefits of ERP systems.

c) What is Information? Explain.

d) What are the major characteristics of Decision Support System?

e) What is the scope define for ERP?

Q4) Answer the following  questions (Any one). [10]

a) What is MIS? Explain objectives of MIS in detail.

b) What are the advantages and disadvantages of Executive Support System?


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SEAT No. :

Q1) A) Fill in the blanks [5]

i) In AIDAS, I stands for

a) Interest b) Interaction

c) Idea d) Intimation

ii) ___________ is not a part of marketing mix.

a) Product b) Purpose

c) Place d) Price

iii) Free samples, coupons, discount, sale....these are the examples
of________

a) Advertising b) Personal selling

c) Sales Promotion d) Publicity

iv) Sub elements of product mix includes________

a) New product development

b) Branding

c) Packaging

d) All the above

v) Identify the platform for social media marketing.

a) Instagram b) Twitter

c) Facebook d) All of the above

P.T.O.
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B) Match the following: [5]

A B

i) Samsung a) Place mix

ii) Marketing mix b) 4 P’s

iii) Storage and warehousing c) Brand

iv) Micro blogging d) Facebook

v) Social media marketing e) Post very short entries

Q2) Short notes (Any 2) [10]

a) Web advertising.

b) Elements of product mix

c) Digital marketing mix.

Q3) Answer the following Questions (Any four) [20]

a) State types of branding.

b) Write short note on AIDAS.

c) Write sub elements of place mix.

d) Write importance of marketing mix.

e) Write techniques of online sales promotion.

Q4) Answer the following (Any one). [10]

a) Write a detail note on recent media trends.

b) What do you mean by marketing mix? Explain in brief elements of
marketing mix.



ˆ
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P4017

Q1) A) State following statement are true or false (any 5) : [5]

a) Maximum late fees payable for filing of return beyond due date is
Rs. 5,000.

b) Maximum interest allowable on partner’s capital is 12%.

c) Certain domestic companies can opt special rate of 25%.

d) Depreciation loss can be carry forward for 8 years only.

e) TDS on winning of lottery is deductible at 20% rate.

f) Minor can verify his return.

B) Fill in the blanks (any 5) : [5]
a) Provision of inter head adjustment is given under following section

_____.
(Section 70, Section 71, Section 72, Section 73).

b) Basic exemption limit for partnership is ______.
(Rs 10,000, Rs. 2,00,000, Rs. 2,50,000, NIL)

P.T.O.
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c) Provision regarding deferment in payment of advance tax is given
under following section _____.
(Section 234A, Section 234B, Section 234C, Section 234F)

d) Apex income tax authority is _____.
(Supreme Court, Chief Commissioner of IT, CBDT, ITO)

e) TDS on winning from horse races is at following rate _____.
(10, 20%, 30%, NIL)

f) Provision of Minimum Alternate Tax (MAT) is applicable to _____.
(Individual, HUF, Company, Partnership firm)

Q2) Write short notes on (Any 2) : [10]

a) Due date for filing return of income.

b) Tax deducted at source u/c 194C.

c) Provisions for carry forward and set of house property loss.

d) Advance payment of Income tax.

Q3) a) Types of income returns under Income Tax Act.

b) Various Income tax authorities under Income Tax Act.
[15]

Q4) Explain the following provisions related to Company. [15]

a) Book Profit.

b) Minimum alternate tax.

c) Tax rates applicable to various companies.
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Q5) Following is the Profit and Loss account of SD and Co. (a partnership firm)
for the year ending 31-3-2022 is as follows. [15]

Particulars Amount      Particulars Amount
Rs. Rs.

Cost of goods sold 10,00,000 Sales 18,00,000
Remuneration to partners 4,49,000 Rent of house property 60,000
Interest to partners 60,000 Dividend 1,70,000
@ 18% p.a
Municipal tax of 25,000
house property
Other expenses 2,36,000
Net Profit 2,60,000

Total 20,30,000       Total 20,30,000

Other information :

a) Out of the other expenses, Rs. 18,400 is not deductible u/s 36, 37(1) and
43B.

b) On 15-1-2022, the firm pays an outstanding GST liability of Rs. 54,700
of the previous year 2020-21. As this amount pertains to the previous
year 2020-21, it has not been debited to the aforesaid Profit and Loss
account.

Compute the income from business of the SD and Co. for the AY 2022-23
assuming that the firm does not opt for presumptive taxation scheme.

.


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Q1) a) Fill in the blanks [5]

i) HTML stands for___________ .

a) Hyper Text Machine Language

b) Hyper Text Media Language

c) Hyper Text Markup Language

d) Hyper Tag Markup Language

ii) Each table cell is defined by a_________ tag.

a) <cell>...</cell> b) <tr>...</tr>

c) <th>...</th> d) <td>...</td>

iii) ________ tag is used to add link to the web page.

a) <h> b) <a>

c) <p> d) <i>

iv) Which JavaScript keyword is used to declare a variable?

a) Var b) var

c) Let d) declare

v) _________ defines the most important heading in HTML heading
tags.

a) H2 b) H1

c) H4 d) H6

P.T.O.
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b) Match the following [5]

A B

1) JavaScript operator a) HTML tag used for
specifying line break

2) <body> b) Increment and decrement

3) Cellspacing c) Divides browser window
into smaller segments

4) <br> d) Specifies the space
between cells

5) Frames e) Tag contains the content
of the web page

Q2) Write short note on (Any two) [10]

a) Formatting tags in HTML

b) Frames used in HTML

c) Logical Operators in JavaScript

d) Rowspan and Columnspan.

Q3) Answer the following (Any four) [20]

a) Explain ordered list tag in HTML with syntax and example.

b) Explain <script> tag used in Javascript with example.

c) Explain for loop in JavaScript with syntax and example.

d) What is an Array in JavaScript? Explain with example.

e) Explain heading tags in HTML with example.

Q4) Answer the following (Any One). [10]

a) What is HTML form? Explain various form elements with syntax and
example.

b) What is hyperlink? How hyperlink is created in HTML? Explain tag with
syntax and example.


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Q1) A) Fill in the blanks: [5]

a) The stages through which individual product develop over period
of time is known as _____________.

i) product life cycle ii) product like cycle

iii) product development cycle iv) product image cycle

b) In introduction stage cost of marketing is _______.

i) very high ii) very low

iii) moderate iv) not known

c) New product development starts with _______.

i) idea generation ii) funds generation

iii) marketing channels iv) lower pricing

d) ______ are emotions behind purchase of products.

i) buying motives ii) selling motives

iii) marketing decisions iv) bargaining motive

e) This type of customers are very easy to handle.

i) Friendly ii) Arrogant

iii) Shy iv) Silent

P.T.O.
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B) Match the pairs: [5]

a) Primary packaging i) Carton of Papers

b) Secondary packaging ii) Coca cola tin

c) It is specific name, picture or design iii) Brand

d) Sales volume low but increasing iv) Buying motives

e) Love and affection v) Introduction stage

Q2) Write short note on (any 2): [10]

a) Branding of product.

b) Growth stage in product life cycle.

c) Emotional buying motives.

d) Services marketing.

Q3) Answer the following (any 4): [20]

a) Product life cycle.

b) New product development.

c) Rational buying motives.

d) Patronage buying motives.

e) Green marketing.

f) Social media marketing.

Q4) Answer the following (any 1): [10]

a) Explain in detail process of selling.

b) Write detail note on new concepts in marketing.


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Q1) a) Choose correct answer. (any five) [5]

i) Final return shall be furnished in _______.

a) Form GSTR-8 b) From GSTR-9

c) From GSTR-10 d) From GSTR-11

ii) Annual audit report is required to be certified by practicing ______.

a) CA b) CMA

c) CA or CMA d) CA and CMA both

iii) ______ return is required to be furnished for outward supplies

made by the registered person.

a) Form GSTR-1 b) Form GSTR-2

c) Form GSTR-4A d) Form GSTR-6

iv) Invoice-wise details of Supplies made by Taxable person are filed

in ________.

a) GSTR-1 b) GSTR-2

c) GSTR-3 d) All of the above

P.T.O.
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v) Provisional Input tax credit can be utilized against ______.

a) Any Tax liability

b) Self-Assessed Output Tax liability

c) Interest and Penalty

d) Fine

vi) Input Tax credit as credited in Electronic Credit ledger can be utilized
for _________.

a) Payment of Interest b) Payment of Penalty

c) Payment of Fine d) Payment of Taxes

b) State whether the following statement is TRUE or FALSE. [5]

i) The time limit to pay the value of supply with taxes to avail the input
tax credit is 180 days.

ii) Proportionate credit for capital goods is allowed for business and
non-business purpose.

iii) The details of outward supplies shall include details of debit notes,
credit notes and revised invoices issued in relation to outward
supplies.

iv) Input tax credit fully restricted in case of switchover from taxable
to exempt supplies.

v) A payment voucher need not be raised if the supplier is an
unregistered person.

Q2) Write short notes (any two) [10]

a) Input tax credit

b) Bill of Supply

c) Electronic cash ledger V/s Electronic credit ledger

d) Self-assessment under GST law
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Q3) Answer the following questions. (any four) [20]

a) What is the maximum time limit to claim the Input tax credit?

b) What is the difference between the Input tax credit in case of Compulsory
Registration and Voluntary Registration?

c) What are the conditions applicable to Input service distributor to distribute
the credit?

d) Explain the provisions regarding assessment of unregistered persons under
GST law.

e) How will transfer of credit on account of sale, merger, amalgamation etc.
be effected?

f) What are the conditions for transfer of credit on account of sale, merger,
amalgamation, de-merger, lease, transfer of business?

Q4) Answer any one of the following questions. [10]

a) What are the different types of GST returns and due dates thereon?

b) Explain the various provisions of Audit by tax authorities.

c) Explain the various provisions regarding Tax Deducted at Source under
GST.


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